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Data Validation, Estimation and Editing Procedures
9.1
ERCOT Validation Process
(1)
Refer to Protocol Section 11, Data Acquisition and Aggregation, for the ERCOT validation process.
9.2
ERCOT Editing and Estimation Process
(1)
In the event ERCOT cannot communicate with the primary and back-up ERCOT-Polled Settlement (EPS) Meters through the normal communications path, either of the following should be utilized if possible:
(a)
Temporary alternate communications (cell phone, microwave, satellite, and any other ERCOT Meter Data Acquisition System (MDAS)-compatible communications); or
(b)
Compatible ERCOT MDAS formats (MV-90 “p” files, HandHeld File Format (HHF), etc.).
(2)
Once it has been determined that data cannot be retrieved from the EPS Meters, ERCOT will perform an estimate utilizing the best available data and sound engineering practices.  The following are examples of data that may be used: 
(a)
Non-EPS Meter data; and
(b)
Supervisory Control and Data Acquisition (SCADA) data in conjunction with data provided by the Resource Entity.
9.2.1
Examples
(1)
Blown current transformer:  It was determined that data gathered from a metering point was incorrect due to a failure of a current transformer.  This means that the data retrieved by the ERCOT MDAS is understating the actual quantity generated/consumed at the metering point.  ERCOT determines from test reports that the energy flow is typically balanced across all phases.  Since the meter is only recording data based on two working current transformers, the data would be increased by a factor of 1.5 (metered value is 66% of actual) to adjust for the current transformer failure.
Example: Actual generation value equals:  30 MWh.
Actual metered value equals:  30 MWh * 0.66666666 = 20 MWh
Estimated value equals:  20 MWh * 1.5 = 30 MWh  
(2)
Determine un-metered generation using meter data:  A generation site consisting of three units has an EPS Meter installed on each unit.  For one of the units, the primary and backup meters are destroyed due to lightning.  ERCOT determines that another non-EPS Meter is available for the whole site (i.e., the meter includes all the generation from the three units).  To determine an estimate of the missing unit’s generation, ERCOT would take the non-revenue quality total site meter and subtract the two EPS Meter values from the two other generation units.
(3)
Determine un-metered generation using SCADA data:  A site consisting of three generation units has EPS Meters installed at the transmission point of interconnect.  The primary and backup meters are destroyed due to lightning.  The SCADA signals from all three units were unaffected.  ERCOT will retrieve and sum the signals for a like period when EPS Meter data was available.  ERCOT will then perform a comparison analysis to compute an adjustment factor that will be applied to the SCADA data.
Example:  SCADA signal for like period per unit is 10 MWh.
Total for the three units is 30 MWh.
Actual metered value for like period equals 26 MWh
Adjustment factor equals 26/30 = .866667
SCADA signal for estimate period equals 35MWh
Estimated value equals: .866667 * 35 = 30.333333
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